1 HRFEA#

RESL R6.4 R6.5 R6.6 R6.7 R6.8 R6.9 R6.10 R6.11 R6.12 R7.1 R7.2 R7.3 =
ERERE 142 289 153 240 210 199 ATT 109 112 202 99 242 2,474
BEMEII =Tt 2— 97 68 131 242 109 243 166 112 89 128 82 145 1,612
MEHX I 2=FT 4 -2 — 151 306 138 325 227 323 271 184 320 187 150 161 2,743
R R e 2 ey || 169 325 308 222 276 284 262 259 202 144 220 228 2,899
FrigiXala=—574—tr&— 226 237 343 334 359 309 301 438 188 229 276 193 3,433
BWERII1=T4—trX— 401 281 449 536 398 389 458 579 242 401 394 400 4,928
BEAII1=TA g — 538 590 565 700 615 511 520 389 408 420 543 AT7 6,276
S R e (B 385 467 707 613 1,014 540 471 489 365 280 388 399 6,118

At 2,109 2,563 2,794 3,212 3,208 2,798 2,926 2,559 1,926 1,991 2,152 2,245 30,483
2 RETERR

KBS R6.4 R6.5 R6.6 R6.7 R6.8 R6.9 R6.10 R6.11 R6.12 R7.1 R7.2 R7.3 i
ERERE 16,100 32,810 17,460 27,610 24,570 22,690 56,640 12,620 12,970 23,160 11,160 28,6501 286,440
BEHXAI =Tt R— 10,550 7,470 14,020 26,160 11,780 25,740 17,610 12,130 9,580 13,950 8,780 15,720| 173,490
MEHX AT 22T -2 — 18,240 36,940 17,230 40,280 27,840 39,440 33,790 23,010 40,290 23,420 19,340 20,810 340,630
AIa=T4—trE—iHmEm 20,620 39,660 37,990 26,810 33,240 34,240 31,290 31,330 24,380 17,480 27,710 28,5620 353,270
FriBtXaIa=T4 -2 — 26,560 27,930 39,900 40,490 43,270 36,630 35,860 52,480 22,700 28,260 33,990 23,570 411,640
BEEII1=T( & — 47,460 33,540 54,640 64,920 48,330 46,990 55,160 69,190 29,180 48,900 47,360 47,8201 593,490
BEPIIa =T —trX— 67,690 73,950 70,530 87,580 75,120 61,660 62,650 47,410 50,630 52,010 67,370 60,030 776,630
S N R e 46,440 54,630 83,260 71,2301 119,890 63,420 56,220 57,720 43,860 34,430 47,110 47,6001 725,810
AT 253,660| 306,930/ 335,030| 385,080 384,040| 330,810 349,220\ 305,890| 233,590| 241,610, 262,820| 272,720 3,661,400




